## **BID TABULATIONS**

Contract No:DH00333

WBS No:BP8.R010

County:Moore

Bridge #127 over Bear Creek on SR 1428 (Dan Road)

Bid Opening Date: 12/14/2021 at 2:00 PM

ITEM NO	ITEM	QUANTITY	UNITS	EASTERN STR	RUCTURES LLC AMOUNT BID	R. E. BURNS &	2 SONS CO., INC. AMOUNT BID	DELLIN UNIT PRICE	GER INC AMOUNT BID
1 III NO	Mobilization	1.00	LS	\$54,000.00	\$54,000.00		\$57,000.00	\$59,000.00	\$59,000.00
2	Type II Modified Approach Fill, Sta. 15+50.00 -L-	1.00	LS	\$12,000.00	\$12,000.00	~	\$8,000.00	\$8,000.00	\$8,000.00
2	Type II Woulled Approach Thi, Sta. 15+50.00 -L-	1.00	LO	ψ12,000.00	¢12,000.00	\$0,000.00	ψ0,000.00	\$0,000.00	\$0,000.00
3	Grading	1.00	LS	\$70,000.00	\$70,000.00	\$162,000.00	\$162,000.00	\$162,000.00	\$162,000.00
4	Supplementary Clearing & Grubbing	1.00	Acre	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
5	Undercut Excavation	100.00	CY	\$6.00	\$600.00	\$12.00	\$1,200.00	\$12.00	\$1,200.00
6	Select Granular Material, Class III	100.00	CY	\$30.00	\$3,000.00	\$1.00	\$100.00	\$1.00	\$100.00
7	Geotextile for Soil Stabilization	900.00	SY	\$3.00	\$2,700.00	\$1.00	\$900.00	\$2.00	\$1,800.00
8	Foundation Conditioning Material, Minor Structures	30.00	Ton	\$30.00	\$900.00	\$1.00	\$30.00	\$1.00	\$30.00
9	Foundation Conditioning Geotextile	80.00	SY	\$3.00	\$240.00	\$1.00	\$80.00	\$1.00	\$80.00
10	15" Drainage Pipe	72.00	LF	\$55.00	\$3,960.00	\$40.00	\$2,880.00	\$40.00	\$2,880.00
11	15" RC Pipe Culverts, Class IV	144.00	LF	\$55.00	\$7,920.00	\$40.00	\$5,760.00	\$40.00	\$5,760.00
12	Shallow Undercut	100.00	CY	\$15.00	\$1,500.00	\$12.00	\$1,200.00	\$12.00	\$1,200.00
13	Class IV Subgrade Stabilization	200.00	Ton	\$30.00	\$6,000.00	\$26.00	\$5,200.00	\$26.00	\$5,200.00
14	Incidental Stone Base	50.00	Ton	\$35.00	\$1,750.00	\$25.00	\$1,250.00	\$25.00	\$1,250.00
15	Incidental Milling	230.00	SY	\$20.00	\$4,600.00	\$9.00	\$2,070.00	\$9.00	\$2,070.00
16	Asphalt Concrete Base Course, Type B25.0C	225.00	Ton	\$116.00	\$26,100.00	\$149.00	\$33,525.00	\$97.00	\$21,825.00
	Asphalt Concrete Intermediate Course, Type I19.0C	325.00	Ton	\$101.00	\$32,825.00	\$129.00	\$41,925.00	\$81.00	\$26,325.00
18	Asphalt Concrete Surface Course, Type S9.5B	475.00	Ton	\$101.00	\$47,975.00	\$129.00	\$61,275.00	\$71.00	\$33,725.00
19	Asphalt Binder for Plant Mix	60.00	Ton	\$555.00	\$33,300.00	\$1.00	\$60.00	\$550.00	\$33,000.00
20	Right-of-Way Markers	8.00	Ea	\$200.00	\$1,600.00	\$230.00	\$1,840.00	\$258.97	\$2,071.76
21	Masonry Drainage Structure	6.00	Ea	\$1,500.00	\$9,000.00	\$2,000.00	\$12,000.00	\$2,000.00	\$12,000.00
22	Frame with Two Grates, Std 840.29	6.00	Ea	\$600.00	\$3,600.00	\$250.00	\$1,500.00	\$250.00	\$1,500.00
23	Shoulder Berm Gutter	360.00	LF	\$40.00	\$14,400.00	\$55.00	\$19,800.00	\$46.02	\$16,567.20
24	Steel Beam Guardrail	325.00	LF	\$27.00	\$8,775.00	\$26.00	\$8,450.00	\$26.00	\$8,450.00
25	Additional Guardrail Posts	5.00	Ea	\$12.00	\$60.00	\$11.00	\$55.00	\$11.00	\$55.00
26	Guardrail Anchor Units, Type III	4.00	Ea	\$2,500.00	\$10,000.00	\$2,100.00	\$8,400.00	\$2,100.00	\$8,400.00

							SONS CO., INC.	DELLING	
ITEM NO		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
27	Guardrail End Units, Type TL-3	4.00	Ea	\$3,500.00	,	,	\$14,000.00	\$3,500.00	\$14,000.00
28	Rip Rap, Class II	300.00	Ton	\$55.00	,		\$12,000.00	\$40.00	\$12,000.00
29	Rip Rap, Class B	210.00	Ton	\$45.00	. ,		\$8,400.00	\$40.00	\$8,400.00
30	Geotextile for Drainage	1,925.00	SY LC	\$3.00	,		\$1,925.00	\$2.00	\$3,850.00
31	Temporary Traffic Control	1.00	LS	\$6,000.00	<i>,</i>	,	\$6,000.00	\$6,300.00	\$6,300.00
32	Paint Pavement Marking Lines (4")	6,800.00	LF	\$0.85	,		\$5,100.00	\$0.75	\$5,100.00
33	Permanent Raised Pavement Markers	20.00	Ea	\$30.00			\$200.00	\$10.00	\$200.00
34	Temporary Silt Fence	2,150.00	LF	\$3.00	<i>,</i>		\$4,300.00	\$2.00	\$4,300.00
35	Stone for Erosion Control, Class A	35.00	Ton	\$10.00			\$35.00	\$1.00	\$35.00
36	Stone for Erosion Control, Class B	315.00	Ton	\$10.00			\$315.00	\$1.00	\$315.00
37	Sediment Control Stone	435.00	Ton	\$10.00	,		\$435.00	\$1.00	\$435.00
38	Temporary Mulching	1.50	Acre	\$1,500.00	,		\$375.00	\$250.00	\$375.00
39	Seed for Temporary Seeding	100.00	LB	\$2.00			\$100.00	\$1.00	\$100.00
40	Fertilizer for Temporary Seeding	0.50	Ton	\$1,000.00			\$250.00	\$500.00	\$250.00
41	Temporary Slope Drains	200.00	LF	\$5.00	\$1,000.00	\$5.00	\$1,000.00	\$7.00	\$1,400.00
42	Safety Fence	260.00	LF	\$4.00	\$1,040.00	\$2.00	\$520.00	\$2.00	\$520.00
43	Silt Excavation	150.00	CY	\$6.00	\$900.00	\$2.00	\$300.00	\$2.00	\$300.00
44	Matting for Erosion Control	7,110.00	SY	\$0.10	\$711.00	\$1.00	\$7,110.00	\$1.00	\$7,110.00
45	Coir Fiber Mat	100.00	SY	\$7.00	\$700.00	\$4.45	\$445.00	\$4.45	\$445.00
46	Permanent Soil Reinforcement Mat	190.00	SY	\$5.00	\$950.00	\$4.00	\$760.00	\$4.00	\$760.00
47	1/4" Hardware Cloth	335.00	LF	\$4.00	\$1,340.00	\$3.50	\$1,172.50	\$3.50	\$1,172.50
48	Floating Turbidity Curtain	205.00	SY	\$6.00	\$1,230.00	\$12.00	\$2,460.00	\$12.00	\$2,460.00
49	Special Stilling Basins	14.00	Ea	\$50.00	\$700.00	\$1.00	\$14.00	\$0.00	\$0.00
50	Wattle	60.00	LF	\$10.00	\$600.00	\$4.50	\$270.00	\$4.50	\$270.00
51	Polycrylamide (PAM)	100.00	LB	\$10.00	\$1,000.00	\$1.00	\$100.00	\$1.00	\$100.00
52	Seeding & Mulching	3.00	Acre	\$2,400.00	\$7,200.00	\$1,000.00	\$3,000.00	\$2,000.00	\$6,000.00
53	Mowing	3.00	Acre	\$100.00	\$300.00	\$1.00	\$3.00	\$1.00	\$3.00
54	Seed for Repair Seeding	50.00	LB	\$2.50	\$125.00	\$1.00	\$50.00	\$1.00	\$50.00
55	Fertilizer for Repair Seeding	0.25	Ton	\$800.00	\$200.00	\$250.00	\$62.50	\$250.00	\$62.50
56	Seed for Supplemental Seeding	50.00	LB	\$3.00	\$150.00	\$1.00	\$50.00	\$1.00	\$50.00
57	Fertilizer Topdressing	1.00	Ton	\$1,200.00	\$1,200.00	\$250.00	\$250.00	\$250.00	\$250.00
58	Specialized Hand Mowing	10.00	Mhr	\$45.00	\$450.00	\$1.00	\$10.00	\$1.00	\$10.00
59	Response for Erosion Control	19.00	Ea	\$1.00	\$19.00	\$1.00	\$19.00	\$1.00	\$19.00
60	Concrete Washout Structure	2.00	Ea	\$500.00	\$1,000.00	\$800.00	\$1,600.00	\$450.00	\$900.00
61	Removal of Existing Structure at Station 15+50.00 -L-	1.00	LS	\$74,554.00	\$74,554.00	\$30,000.00	\$30,000.00	\$9,000.00	\$9,000.00
62	Asbestos Assessment	1.00	LS	\$1,300.00	\$1,300.00	\$3,500.00	\$3,500.00	\$750.00	\$750.00

				EASTERN ST	<b>TRUCTURES LLC</b>	R. E. BURNS &	z SONS CO., INC.	DELLIN	GER INC
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
63	3'-0" Dia. Drilled Piers in Soil	42.00	LF	\$894.00	\$37,548.00	\$700.00	\$29,400.00	\$1,600.00	\$67,200.00
64	3'-0" Dia. Drilled Piers Not in Soil	50.70	LF	\$1,624.00	\$82,336.80	\$1,300.00	\$65,910.00	\$2,250.00	\$114,075.00
67	Permanent Steel Casing for 3'-0" Dia. Drilled Pier	40.50	LF	\$30.00	\$1,215.00	\$10.00	\$405.00	\$111.00	\$4,495.50
66	PDA Testing	1.00	Ea	\$200.00	\$200.00	\$2,500.00	\$2,500.00	\$2,500.00	\$2,500.00
67	SPT Inspections	6.00	Ea	\$100.00	\$600.00	\$100.00	\$600.00	\$1.00	\$6.00
68	CSL Testing	2.00	ea	\$2,600.00	\$5,200.00	\$2,500.00	\$5,000.00	\$1.00	\$2.00
69	Unclassified Structure Excavation at Station 15+50.00 -L-	1.00	LS	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$7,500.00	\$7,500.00
70	Class A Concrete (Bridge)	74.90	CY	\$900.00	\$67,410.00	\$1,200.00	\$89,880.00	\$1,500.00	\$112,350.00
71	Bridge Approach Slabs, Station 15+50.00 -L-	1.00	LS	\$22,000.00	\$22,000.00	\$22,000.00	\$22,000.00	\$25,000.00	\$25,000.00
72	Reinforcing Steel (Bridge)	22,953.00	LB	\$1.60	\$36,724.80	\$2.00	\$45,906.00	\$1.50	\$34,429.50
73	Spiral Column Reinforcing Steel (Bridge)	2,779.00	LB	\$2.80	\$7,781.20	\$6.50	\$18,063.50	\$3.00	\$8,337.00
14	Pile Driving Equipment Setup for HP 12 x 53 Steel Piles	10.00	Ea	\$600.00	\$6,000.00	\$1,500.00	\$15,000.00	\$2,500.00	\$25,000.00
75	HP 12 x 53 Steel Piles	200.00	LF	\$65.00	\$13,000.00	\$40.00	\$8,000.00	\$55.00	\$11,000.00
76	Steel Pile Points	10.00	Ea	\$200.00	\$2,000.00	\$250.00	\$2,500.00	\$150.00	\$1,500.00
77	Vertical Concrete Barrier	240.75	LF	\$125.00	\$30,093.75	\$150.00	\$36,112.50	\$250.00	\$60,187.50
78	Rip Rap Class II (2'-0" Thick)	228.00	Ton	\$55.00	\$12,540.00	\$41.00	\$9,348.00	\$41.00	\$9,348.00
79	Geotextile for Drainage	253.00	SY	\$3.00	\$759.00	\$2.00	\$506.00	\$2.00	\$506.00
80	Elastomeric Bearings	1.00	LS	\$7,000.00	\$7,000.00	\$5,000.00	\$5,000.00	\$7,500.00	\$7,500.00
	3'-0" x 2'-0" Prestressed Concrete Cored Slabs	1,200.00	LF	\$178.00	\$213,600.00	\$198.00	\$237,600.00	\$171.00	\$205,200.00
					\$1,079,838.55		\$1,146,363.00		\$1,197,918.46

Bidder No. 1: EASTERN STRUCTURES LLC Bidder No. 2: R. E. BURNS & SONS CO., INC. Bidder No. 3: DELLINGER INC Bidder No. 4: SMITH-ROWE, LLC COMPANY Bidder No. 6: S T WOOTEN CORPORATION Bidder No. 7: APPLE TUCK & ASSOCIATES INC Bidder No. 8: APAC ATLANTIC INC THOMPSON ARTHUR Bidder No. 9: DANE CONSTRUCTION INC

## **BID TABULATIONS**

Contract No:DH00333

WBS No:BP8.R010

County:Moore

Bridge #127 over Bear Creek on SR 1428 (Dan Road)

Bid Opening Date: 12/14/2021 at 2:00 PM

							BA FRED SMITH		
ITEM NO	ITEM	QUANTITY	UNITS	SMITH-F UNIT PRICE	ROWE, LLC AMOUNT BID	CON UNIT PRICE	IPANY AMOUNT BID	S T WOOTEN ( UNIT PRICE	CORPORATION AMOUNT BID
1 IIII NO	Mobilization	1.00	LS	\$60,900.00	\$60,900.00	\$60,000.00	\$60,000.00	\$61,000.00	\$61,000.00
2	Type II Modified Approach Fill, Sta. 15+50.00 -L-	1.00	LS	\$8,000.00	\$8,000.00	\$14,750.00	\$14,750.00	\$15,000.00	\$15,000.00
	Grading	1.00	LS	\$162,000.00	\$162,000.00	,	\$120,250.00		\$80,000.00
4	Supplementary Clearing & Grubbing	1.00	Acre	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00	\$1.00
5	Undercut Excavation	100.00	CY	\$12.00	\$1,200.00	\$20.00	\$2,000.00	\$20.00	\$2,000.00
6	Select Granular Material, Class III	100.00	CY	\$1.00	\$100.00	\$40.00	\$4,000.00	\$20.00	\$2,000.00
7	Geotextile for Soil Stabilization	900.00	SY	\$2.00	\$1,800.00	\$1.00	\$900.00	\$3.00	\$2,700.00
8	Foundation Conditioning Material, Minor Structures	30.00	Ton	\$1.00	\$30.00	\$35.00	\$1,050.00	\$55.00	\$1,650.00
9	Foundation Conditioning Geotextile	80.00	SY	\$1.00	\$80.00	\$3.50	\$280.00	\$3.00	\$240.00
10	15" Drainage Pipe	72.00	LF	\$40.00	\$2,880.00	\$55.00	\$3,960.00	\$100.00	\$7,200.00
11	15" RC Pipe Culverts, Class IV	144.00	LF	\$40.00	\$5,760.00	\$55.00	\$7,920.00	\$100.00	\$14,400.00
12	Shallow Undercut	100.00	CY	\$12.00	\$1,200.00	\$25.00	\$2,500.00	\$20.00	\$2,000.00
13	Class IV Subgrade Stabilization	200.00	Ton	\$26.00	\$5,200.00	\$40.00	\$8,000.00	\$20.00	\$4,000.00
14	Incidental Stone Base	50.00	Ton	\$25.00	\$1,250.00	\$40.00	\$2,000.00	\$34.00	\$1,700.00
15	Incidental Milling	230.00	SY	\$9.00	\$2,070.00	\$35.67	\$8,204.10	\$23.00	\$5,290.00
16	Asphalt Concrete Base Course, Type B25.0C	225.00	Ton	\$97.00	\$21,825.00	\$94.65	\$21,296.25	\$97.00	\$21,825.00
	Asphalt Concrete Intermediate Course, Type I19.0C	325.00	Ton	\$81.00	\$26,325.00	\$75.00	\$24,375.00	\$81.00	\$26,325.00
18	Asphalt Concrete Surface Course, Type S9.5B	475.00	Ton	\$71.00	\$33,725.00	\$85.00	\$40,375.00	\$71.00	\$33,725.00
19	Asphalt Binder for Plant Mix	60.00	Ton	\$550.00	\$33,000.00	\$543.00	\$32,580.00	\$550.00	\$33,000.00
20	Right-of-Way Markers	8.00	Ea	\$300.00	\$2,400.00	\$450.00	\$3,600.00	\$350.00	\$2,800.00
21	Masonry Drainage Structure	6.00	Ea	\$2,000.00	\$12,000.00	\$1,900.00	\$11,400.00	\$350.00	\$2,100.00
22	Frame with Two Grates, Std 840.29	6.00	Ea	\$250.00	\$1,500.00	\$1,050.00	\$6,300.00	\$660.00	\$3,960.00
23	Shoulder Berm Gutter	360.00	LF	\$45.00	\$16,200.00	\$28.00	\$10,080.00	\$40.00	\$14,400.00
24	Steel Beam Guardrail	325.00	LF	\$26.00	\$8,450.00	\$26.00	\$8,450.00	\$26.00	\$8,450.00
25	Additional Guardrail Posts	5.00	Ea	\$1.00	\$5.00	\$11.00	\$55.00	\$11.00	\$55.00
26	Guardrail Anchor Units, Type III	4.00	Ea	\$2,100.00	\$8,400.00	\$2,100.00	\$8,400.00	\$2,100.00	\$8,400.00

				r					
							BA FRED SMITH		
ITEM NO	ITEM	QUANTITY	UNITS	SMITH-F UNIT PRICE	ROWE, LLC AMOUNT BID	CON UNIT PRICE	IPANY AMOUNT BID	S T WOOTEN ( UNIT PRICE	CORPORATION AMOUNT BID
		<b>4.00</b>		\$3,500.00		\$3,500.00	\$14,000.00		
	uardrail End Units, Type TL-3		Ea	\$3,300.00	,	\$5,300.00	,	<i>,</i>	\$14,000.00
	p Rap, Class II n Dan, Class B	300.00	Ton Ton				\$19,500.00	\$74.00	\$22,200.00
	p Rap, Class B	210.00	Ton	\$40.00	. ,	\$55.00	\$11,550.00		\$13,650.00
	eotextile for Drainage	1,925.00	SY LC	\$2.00	,	\$0.10	\$192.50		\$5,775.00
	emporary Traffic Control	1.00	LS	\$8,600.00	. ,	\$4,800.00	\$4,800.00	,	\$8,600.00
	int Pavement Marking Lines (4")	6,800.00	LF	\$0.75	\$5,100.00	\$0.75	\$5,100.00		\$5,100.00
	ermanent Raised Pavement Markers	20.00	Ea	\$10.00		\$10.00	\$200.00		\$200.00
	emporary Silt Fence	2,150.00	LF	\$2.00	,	\$1.50	\$3,225.00		\$5,912.50
	one for Erosion Control, Class A	35.00	Ton	\$1.00		\$1.00	\$35.00		\$2,240.00
	one for Erosion Control, Class B	315.00	Ton	\$1.00		\$1.00	\$315.00		\$20,475.00
	diment Control Stone	435.00	Ton	\$1.00		\$1.00	\$435.00	\$25.00	\$10,875.00
	emporary Mulching	1.50	Acre	\$250.00		\$1,000.00	\$1,500.00	,	\$2,250.00
	ed for Temporary Seeding	100.00	LB	\$1.00		\$3.00	\$300.00		\$300.00
	ertilizer for Temporary Seeding	0.50	Ton	\$500.00		\$800.00	\$400.00		\$687.50
41 <b>Te</b>	emporary Slope Drains	200.00	LF	\$7.00	. ,	\$1.00	\$200.00		\$3,080.00
42 Saf	fety Fence	260.00	LF	\$2.00	\$520.00	\$3.00	\$780.00		\$520.00
43 Silt	t Excavation	150.00	CY	\$2.00	\$300.00	\$0.10	\$15.00	\$16.00	\$2,400.00
44 <b>M</b> a	atting for Erosion Control	7,110.00	SY	\$1.00	\$7,110.00	\$0.10	\$711.00	\$1.40	\$9,954.00
45 <b>Co</b>	oir Fiber Mat	100.00	SY	\$4.45	\$445.00	\$14.00	\$1,400.00	\$4.25	\$425.00
46 <b>Per</b>	rmanent Soil Reinforcement Mat	190.00	SY	\$4.00	\$760.00	\$6.00	\$1,140.00	\$6.00	\$1,140.00
47 1/4	4" Hardware Cloth	335.00	LF	\$3.50	\$1,172.50	\$0.50	\$167.50	\$3.75	\$1,256.25
48 <b>Flo</b>	oating Turbidity Curtain	205.00	SY	\$12.00	\$2,460.00	\$30.00	\$6,150.00	\$20.00	\$4,100.00
49 <b>Spe</b>	ecial Stilling Basins	14.00	Ea	\$50.00	\$700.00	\$1.00	\$14.00	\$575.00	\$8,050.00
50 Wa	attle	60.00	LF	\$4.50	\$270.00	\$20.00	\$1,200.00	\$13.00	\$780.00
51 <b>Pol</b>	olycrylamide (PAM)	100.00	LB	\$1.00	\$100.00	\$6.00	\$600.00	\$20.00	\$2,000.00
52 See	eding & Mulching	3.00	Acre	\$2,000.00	\$6,000.00	\$1,500.00	\$4,500.00	\$1,500.00	\$4,500.00
53 <b>M</b> o	owing	3.00	Acre	\$1.00	\$3.00	\$100.00	\$300.00	\$200.00	\$600.00
54 See	ed for Repair Seeding	50.00	LB	\$1.00	\$50.00	\$15.00	\$750.00	\$15.00	\$750.00
55 Fer	ertilizer for Repair Seeding	0.25	Ton	\$250.00	\$62.50	\$1,000.00	\$250.00	\$1,375.00	\$343.75
56 <b>See</b>	ed for Supplemental Seeding	50.00	LB	\$1.00	\$50.00	\$8.00	\$400.00	\$12.00	\$600.00
57 Fer	ertilizer Topdressing	1.00	Ton	\$250.00	\$250.00	\$800.00	\$800.00	\$1,375.00	\$1,375.00
58 Spe	ecialized Hand Mowing	10.00	Mhr	\$1.00	\$10.00	\$90.00	\$900.00	\$90.00	\$900.00
59 Res	esponse for Erosion Control	19.00	Ea	\$1.00	\$19.00	\$10.00	\$190.00	\$50.00	\$950.00
60 <b>Co</b>	oncrete Washout Structure	2.00	Ea	\$450.00	\$900.00	\$600.00	\$1,200.00	\$1,200.00	\$2,400.00
61 Rei	emoval of Existing Structure at ation 15+50.00 -L-	1.00	LS	\$83,450.00		\$61,472.62	\$61,472.62	\$72,000.00	\$72,000.00
	sbestos Assessment	1.00	LS	\$750.00	\$750.00	\$3,500.00	\$3,500.00	\$1,000.00	\$1,000.00
		2.00	~	÷, • • • • • •	÷, • • • • •		+ - ,		+ = , 0 0 0 0 0

				~~ ~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~			BA FRED SMITH	~	
ITEM NO	ITEM	QUANTITY	UNITS	SMITH-F UNIT PRICE	ROWE, LLC AMOUNT BID	UNIT PRICE	IPANY AMOUNT BID	S T WOOTEN C	CORPORATION AMOUNT BID
	3'-0" Dia. Drilled Piers in Soil	42.00	LF	\$1,718.91	\$72,194.22	\$450.00	\$18,900.00		\$39,270.00
64	3'-0" Dia. Drilled Piers Not in Soil	50.70	LF	\$1,718.91	\$87,148.74	\$1,180.00	\$59,826.00	\$1,600.00	\$81,120.00
65	Permanent Steel Casing for 3'-0" Dia. Drilled Pier	40.50	LF	\$276.14	\$11,183.67	\$10.00	\$405.00	\$10.00	\$405.00
66	PDA Testing	1.00	Ea	\$3,650.00	\$3,650.00	\$1,900.00	\$1,900.00	\$4,100.00	\$4,100.00
67	SPT Inspections	6.00	Ea	\$650.00	\$3,900.00	\$100.00	\$600.00	\$100.00	\$600.00
68	CSL Testing	2.00	ea	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00
69	Unclassified Structure Excavation at Station 15+50.00 -L-	1.00	LS	\$7,500.00	\$7,500.00	\$33,000.00	\$33,000.00	\$15,000.00	\$15,000.00
70	Class A Concrete (Bridge)	74.90	CY	\$1,111.02	\$83,215.40	\$1,500.00	\$112,350.00	\$1,250.00	\$93,625.00
71	Bridge Approach Slabs, Station 15+50.00 -L-	1.00	LS	\$27,125.00	\$27,125.00	\$44,000.00	\$44,000.00	\$30,000.00	\$30,000.00
72	Reinforcing Steel (Bridge)	22,953.00	LB	\$1.63	\$37,413.39	\$2.10	\$48,201.30	\$2.00	\$45,906.00
73	Spiral Column Reinforcing Steel (Bridge)	2,779.00	LB	\$3.73	\$10,365.67	\$3.00	\$8,337.00	\$4.00	\$11,116.00
74	Pile Driving Equipment Setup for HP 12 x 53 Steel Piles	10.00	Ea	\$570.61	\$5,706.10	\$1,500.00	\$15,000.00	\$1,300.00	\$13,000.00
75	HP 12 x 53 Steel Piles	200.00	LF	\$64.72	\$12,944.00	\$62.00	\$12,400.00	\$100.00	\$20,000.00
76	Steel Pile Points	10.00	Ea	\$244.34	\$2,443.40	\$160.00	\$1,600.00	\$155.00	\$1,550.00
77	Vertical Concrete Barrier	240.75	LF	\$135.51	\$32,624.03	\$164.00	\$39,483.00	\$145.00	\$34,908.75
78	Rip Rap Class II (2'-0'' Thick)	228.00	Ton	\$41.00	\$9,348.00	\$65.00	\$14,820.00	\$82.00	\$18,696.00
79	Geotextile for Drainage	253.00	SY	\$2.00	\$506.00	\$2.00	\$506.00	\$3.00	\$759.00
80	Elastomeric Bearings	1.00	LS	\$6,000.00	\$6,000.00	\$8,400.00	\$8,400.00	\$5,500.00	\$5,500.00
81	<b>3'-0" x 2'-0" Prestressed Concrete</b> Cored Slabs	1,200.00	LF	\$182.87	\$219,444.00	\$205.00	\$246,000.00	\$190.00	\$228,000.00
					\$1,218,754.62		\$1,221,647.27		\$1,234,165.75

Bidder No. 1: EASTERN STRUCTURES LLC Bidder No. 2: R. E. BURNS & SONS CO., INC. Bidder No. 3: DELLINGER INC Bidder No. 4: SMITH-ROWE, LLC COMPANY Bidder No. 6: S T WOOTEN CORPORATION Bidder No. 7: APPLE TUCK & ASSOCIATES INC Bidder No. 8: APAC ATLANTIC INC THOMPSON ARTHUR Bidder No. 9: DANE CONSTRUCTION INC

## **BID TABULATIONS**

Contract No:DH00333

WBS No:BP8.R010

County:Moore

Bridge #127 over Bear Creek on SR 1428 (Dan Road)

Bid Opening Date: 12/14/2021 at 2:00 PM

				APPLE TUCK & ASSOCIATES INC		THOMPSON ARTHUR		DANE CONSTRUCTION INC	
ITEM NO.	ITEM	QUANTITY	UNITS	UNIT PRICE	NC AMOUNT BID	UNIT PRICE	ISION AMOUNT BID	DANE CONS'I	AMOUNT BID
1	Mobilization	1.00	LS	\$52,985.00		\$85,000.00	\$85,000.00	\$73,590.00	\$73,590.00
2	Type II Modified Approach Fill, Sta. 15+50.00 -L-	1.00	LS	\$8,000.00	\$8,000.00	\$10,000.00	\$10,000.00	\$10,425.00	\$10,425.00
	Grading	1.00	LS	\$187,000.00	\$187,000.00		\$120,000.00		\$87,535.00
4	Supplementary Clearing & Grubbing	1.00	Acre	\$1.00	\$1.00	\$1.00	\$1.00	\$500.00	\$500.00
5	Undercut Excavation	100.00	CY	\$12.00	\$1,200.00	\$15.00	\$1,500.00	\$20.00	\$2,000.00
6	Select Granular Material, Class III	100.00	CY	\$1.00	\$100.00	\$21.00	\$2,100.00	\$40.00	\$4,000.00
7	Geotextile for Soil Stabilization	900.00	SY	\$2.00	\$1,800.00	\$2.50	\$2,250.00	\$4.00	\$3,600.00
8	Foundation Conditioning Material, Minor Structures	30.00	Ton	\$1.00	\$30.00	\$30.00	\$900.00	\$35.00	\$1,050.00
9	Foundation Conditioning Geotextile	80.00	SY	\$1.00	\$80.00	\$2.50	\$200.00	\$3.50	\$280.00
10	15" Drainage Pipe	72.00	LF	\$40.00	\$2,880.00	\$40.00	\$2,880.00	\$55.00	\$3,960.00
11	15" RC Pipe Culverts, Class IV	144.00	LF	\$40.00	\$5,760.00	\$42.00	\$6,048.00	\$55.00	\$7,920.00
12	Shallow Undercut	100.00	CY	\$12.00	\$1,200.00	\$12.00	\$1,200.00	\$25.00	\$2,500.00
13	Class IV Subgrade Stabilization	200.00	Ton	\$26.00	\$5,200.00	\$34.00	\$6,800.00	\$40.00	\$8,000.00
14	Incidental Stone Base	50.00	Ton	\$25.00	\$1,250.00	\$44.00	\$2,200.00	\$40.00	\$2,000.00
15	Incidental Milling	230.00	SY	\$9.00	\$2,070.00	\$15.00	\$3,450.00	\$16.00	\$3,680.00
16	Asphalt Concrete Base Course, Type B25.0C	225.00	Ton	\$149.00	\$33,525.00	\$125.00	\$28,125.00	\$100.00	\$22,500.00
17	Asphalt Concrete Intermediate Course, Type I19.0C	325.00	Ton	\$129.00	\$41,925.00	\$125.00	\$40,625.00	\$85.00	\$27,625.00
18	Asphalt Concrete Surface Course, Type S9.5B	475.00	Ton	\$129.00	\$61,275.00	\$125.00	\$59,375.00	\$85.00	\$40,375.00
19	Asphalt Binder for Plant Mix	60.00	Ton	\$1.00	\$60.00	\$690.00	\$41,400.00	\$550.00	\$33,000.00
20	Right-of-Way Markers	8.00	Ea	\$250.00	\$2,000.00	\$200.00	\$1,600.00	\$215.00	\$1,720.00
21	Masonry Drainage Structure	6.00	Ea	\$2,000.00	\$12,000.00	\$1,500.00	\$9,000.00	\$1,900.00	\$11,400.00
22	Frame with Two Grates, Std 840.29	6.00	Ea	\$250.00	\$1,500.00	\$1,000.00	\$6,000.00	\$1,050.00	\$6,300.00
23	Shoulder Berm Gutter	360.00	LF	\$125.00	\$45,000.00	\$49.00	\$17,640.00	\$25.00	\$9,000.00
24	Steel Beam Guardrail	325.00	LF	\$24.50	\$7,962.50	\$24.50	\$7,962.50	\$26.00	\$8,450.00
25	Additional Guardrail Posts	5.00	Ea	\$10.00	\$50.00	\$10.00	\$50.00	\$11.00	\$55.00
26	Guardrail Anchor Units, Type III	4.00	Ea	\$2,300.00	\$9,200.00	\$2,300.00	\$9,200.00	\$2,100.00	\$8,400.00

					& ASSOCIATES		ON ARTHUR	DANE CONST	DUCTION DIC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	ISION AMOUNT BID	UNIT PRICE	TRUCTION INC AMOUNT BID
27	Guardrail End Units, Type TL-3	4.00	Ea	\$3,300.00		\$3,300.00	\$13,200.00	\$3,500.00	\$14,000.00
28	Rip Rap, Class II	300.00	Ton	\$40.00	· ·	\$52.00	\$15,600.00	\$55.00	\$16,500.00
29	Rip Rap, Class B	210.00	Ton	\$40.00		\$44.00	\$9,240.00	\$50.00	\$10,500.00
30	Geotextile for Drainage	1,925.00	SY	\$2.00		\$2.50	\$4,812.50	\$3.50	\$6,737.50
31	Temporary Traffic Control	1,923.00	LS	\$4,800.00	,	\$8,600.00	\$8,600.00	\$8,750.00	\$8,750.00
32	Paint Pavement Marking Lines (4")	6,800.00	LS	\$1.00	,	\$0.75	\$5,100.00	\$0.75	\$5,100.00
33	Permanent Raised Pavement Markers	20.00	Ea	\$10.00		\$10.00	\$200.00	\$10.00	\$200.00
33	Temporary Silt Fence	2,150.00		\$2.00		\$3.50	\$7,525.00	\$2.75	\$5,912.50
35	Stone for Erosion Control, Class A	35.00	Ton	\$1.00	,	\$1.00	\$35.00	\$40.00	\$1,400.00
36	Stone for Erosion Control, Class R Stone for Erosion Control, Class B	315.00	Ton	\$1.00		\$44.00	\$13,860.00	\$40.00	\$12,600.00
37	Sediment Control Stone	435.00	Ton	\$1.00		\$9.00	\$3,915.00	\$35.00	\$15,225.00
38	Temporary Mulching	1.50	Acre	\$250.00		\$1,000.00	\$1,500.00	\$1,500.00	\$2,250.00
39	Seed for Temporary Seeding	100.00	LB	\$1.00		\$2.00	\$200.00	\$3.00	\$300.00
40	Fertilizer for Temporary Seeding	0.50	Ton	\$500.00		\$100.00	\$50.00	\$1,375.00	\$687.50
41	Temporary Slope Drains	200.00	LF	\$7.00		\$1.00	\$200.00	\$16.00	\$3,200.00
42	Safety Fence	260.00	LF	\$2.00		\$3.00	\$780.00	\$2.00	\$520.00
43	Silt Excavation	150.00	CY	\$2.00		\$10.00	\$1,500.00	\$15.00	\$2,250.00
44	Matting for Erosion Control	7,110.00	SY	\$1.00		\$2.50	\$17,775.00	\$1.40	\$9,954.00
45	Coir Fiber Mat	100.00	SY	\$4.45	· · ·	\$7.00	\$700.00	\$4.25	\$425.00
46	Permanent Soil Reinforcement Mat	190.00	SY	\$4.00		\$10.00	\$1,900.00	\$6.00	\$1,140.00
47	1/4" Hardware Cloth	335.00	LF	\$3.50		\$8.00	\$2,680.00	\$3.75	\$1,256.25
48	Floating Turbidity Curtain	205.00	SY	\$12.00		\$40.00	\$8,200.00	\$35.00	\$7,175.00
49	Special Stilling Basins	14.00	Ea	\$1,500.00	,	\$250.00	\$3,500.00	\$475.00	\$6,650.00
50	Wattle	60.00	La	\$4.50		\$15.00	\$900.00	\$20.00	\$1,200.00
51	Polycrylamide (PAM)	100.00	LB	\$1.00		\$15.00	\$1,500.00	\$30.00	\$3,000.00
52	Seeding & Mulching	3.00	Acre	\$2,000.00		\$2,000.00	\$6,000.00	\$2,375.00	\$7,125.00
53	Mowing	3.00	Acre	\$1.00	,	\$50.00	\$150.00	\$200.00	\$600.00
54	Seed for Repair Seeding	50.00	LB	\$1.00		\$2.00	\$100.00	\$15.00	\$750.00
55	Fertilizer for Repair Seeding	0.25	Ton	\$250.00		\$100.00	\$25.00	\$1,375.00	\$343.75
56	Seed for Supplemental Seeding	50.00	LB	\$1.00		\$2.00	\$100.00	\$12.00	\$600.00
57	Fertilizer Topdressing	1.00	Ton	\$250.00		\$100.00	\$100.00	\$1,375.00	\$1,375.00
58	Specialized Hand Mowing	10.00	Mhr	\$1.00	\$10.00	\$1.00	\$10.00	\$90.00	\$900.00
59	Response for Erosion Control	19.00	Ea	\$1.00	\$19.00	\$100.00	\$1,900.00	\$50.00	\$950.00
60	Concrete Washout Structure	2.00	Ea	\$450.00	\$900.00	\$285.00	\$570.00	\$2,375.00	\$4,750.00
61	Removal of Existing Structure at Station 15+50.00 -L-	1.00	LS	\$39,000.00		\$45,000.00	\$45,000.00	\$45,000.00	\$45,000.00
62	Asbestos Assessment	1.00	LS	\$7,509.00	\$7,509.00	\$1,500.00	\$1,500.00	\$1,065.00	\$1,065.00
			-	-	·		·		

				APPLE TUCK & ASSOCIATES TI		THOMPSO	ON ARTHUR		
				I	NC	DIV	ISION	DANE CONST	<b>FRUCTION INC</b>
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
63	3'-0" Dia. Drilled Piers in Soil	42.00	LF	\$650.00	\$27,300.00	\$1,417.00	\$59,514.00	\$1,575.00	\$66,150.00
64	3'-0" Dia. Drilled Piers Not in Soil	50.70	LF	\$1,380.00	\$69,966.00	\$1,417.00	\$71,841.90	\$2,000.00	\$101,400.00
1 65	Permanent Steel Casing for 3'-0" Dia. Drilled Pier	40.50	LF	\$10.00	\$405.00	\$564.00	\$22,842.00	\$100.00	\$4,050.00
66	PDA Testing	1.00	Ea	\$3,000.00	\$3,000.00	\$2,500.00	\$2,500.00	\$1,900.00	\$1,900.00
67	SPT Inspections	6.00	Ea	\$100.00	\$600.00	\$500.00	\$3,000.00	\$500.00	\$3,000.00
68	CSL Testing	2.00	ea	\$2,500.00	\$5,000.00	\$2,500.00	\$5,000.00	\$1,300.00	\$2,600.00
69	Unclassified Structure Excavation at Station 15+50.00 -L-	1.00	LS	\$7,500.00	\$7,500.00	\$10,000.00	\$10,000.00	\$40,000.00	\$40,000.00
70	Class A Concrete (Bridge)	74.90	CY	\$1,200.00	\$89,880.00	\$1,200.00	\$89,880.00	\$2,200.00	\$164,780.00
71	Bridge Approach Slabs, Station 15+50.00 -L-	1.00	LS	\$20,000.00	\$20,000.00	\$25,000.00	\$25,000.00	\$20,000.00	\$20,000.00
72	Reinforcing Steel (Bridge)	22,953.00	LB	\$1.90	\$43,610.70	\$1.50	\$34,429.50	\$2.05	\$47,053.65
73	Spiral Column Reinforcing Steel (Bridge)	2,779.00	LB	\$3.14	\$8,726.06	\$2.50	\$6,947.50	\$4.35	\$12,088.65
74	Pile Driving Equipment Setup for HP 12 x 53 Steel Piles	10.00	Ea	\$1,000.00	\$10,000.00	\$200.00	\$2,000.00	\$1,950.00	\$19,500.00
75	HP 12 x 53 Steel Piles	200.00	LF	\$55.98	\$11,196.00	\$75.00	\$15,000.00	\$51.25	\$10,250.00
76	Steel Pile Points	10.00	Ea	\$228.40	\$2,284.00	\$200.00	\$2,000.00	\$350.00	\$3,500.00
77	Vertical Concrete Barrier	240.75	LF	\$132.00	\$31,779.00	\$134.00	\$32,260.50	\$135.00	\$32,501.25
78	Rip Rap Class II (2'-0" Thick)	228.00	Ton	\$41.00	\$9,348.00	\$52.00	\$11,856.00	\$60.35	\$13,759.80
79	Geotextile for Drainage	253.00	SY	\$2.00	\$506.00	\$2.25	\$569.25	\$2.25	\$569.25
80	Elastomeric Bearings	1.00	LS	\$10,172.38	\$10,172.38	\$10,000.00	\$10,000.00	\$12,500.00	\$12,500.00
	3'-0" x 2'-0" Prestressed Concrete Cored Slabs	1,200.00	LF	\$213.02	\$255,624.00	\$224.50	\$269,400.00	\$280.00	\$336,000.00
					\$1,235,401.64		\$1,318,474.65		\$1,471,859.10

Bidder No. 1: EASTERN STRUCTURES LLC Bidder No. 2: R. E. BURNS & SONS CO., INC. Bidder No. 3: DELLINGER INC Bidder No. 4: SMITH-ROWE, LLC COMPANY Bidder No. 6: S T WOOTEN CORPORATION Bidder No. 7: APPLE TUCK & ASSOCIATES INC Bidder No. 8: APAC ATLANTIC INC THOMPSON ARTHUR Bidder No. 9: DANE CONSTRUCTION INC